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1 FHEE PR 39 39| 4.8 [34.2 51|HA s+ 49 49]10.8 |38.2
2180 B 42 42] 7.2 |34.8 b2 |FEWH 1MFF 49 49/ 10.8 |38.2
3|FEM = 40 40| 4.8 |35.2 53| LIy R 42 42| 3.6 |38.4
IIRH B 40 40| 4.8 |35.2 54| R % 42 42| 3.6 |38.4
5|75k A 46 46| 10.8 |35.2 5514 I ST 42 42| 3.6 |38.4
6 | 1efk 1B 39 39| 3.6 |35.4 56|t& Rk 1k 1 48 48] 9.6 |38.4
TIRER BEME 44 44| 8.4 |35.6 578 0 U 41 41] 2.4 |38.6
81 FKHE FH K 38 38| 2.4 [35.6 58| Frlas & 41 41| 2.4 138.6
95N 37 37| 1.2 |35.8 59| 3CF 47 47/ 8.4 |38.6
LOJIAT 5% 36 36/ 0.0 |36.0 60| BPIR B 41 41| 2.4 |38.6
11| %25k JA 1 48 48/12.0 136.0 61 gk & 47 47| 8.4 |38.6
12\ %% 6§ Fnos 42 42| 6.0 |36.0 61|21 K 47 47| 8.4 |38.6
13|57 10 1THE 42 42| 6.0 |136.0 63| FmA B 47 47| 8.4 |38.6
14950 BER 41 41| 4.8 |36.2 64| MR A 53 53| 14.4 |38.6
15 %8rH &= 46 46| 9.6 |36.4 65 AT 81T 40 40| 1.2 |38.8
16 FH JEE 40 40| 3.6 |36.4 66| Kl 2l 46 46| 7.2 ]38.8
17/ | 1B 46 46| 9.6 |36.4 67 |1EIF EHET 46 46| 7.2 |38.8
18| #t #k 39 39| 2.4 |36.6 68| HAS 46 46| 7.2 |38.8
19|80 Pk 39 39| 2.4 |36.6 69N ik 46 46| 7.2 ]38.8
20 HS TERE 45 45| 8.4 |36.6 0| K& Hik 46 46| 7.2 |38.8
21551 & 45 45| 8.4 |36.6 NEE 5% 46 46| 7.2 138.8
22 #EE A 45 45| 8.4 |36.6 72008 & 45 45/ 6.0 |39.0
23|58 F- 44 44 7.2 |36.8 T3 kA 45 45/ 6.0 139.0
24| VefE S 44 44) 7.2 |36.8 14 Em KR SR F 50 50| 10.8 |39.2
25 /s T 44 44| 7.2 |36.8 7508 #EE 44 44| 4.8 139.2
26 A =T 44 44) 7.2 |36.8 6| ER)I 50 50| 10.8 |39.2
27| FHH @K 43 43| 6.0 |37.0 7R S LT 56 56| 16.8 |39.2
28 g K 43 43| 6.0 |37.0 78|58 M 9LE 43 43| 3.6 |39.4
29 FHH 1R 43 43| 6.0 |37.0 T9 ML 4fFE] 43 43| 3.6 |39.4
30| R Faik 43 43] 6.0 |37.0 80| Ei = 43 43| 3.6 [39.4
31| Akt #FE 43 43| 6.0 |137.0 81|%8/F M 43 43| 3.6 [39.4
32|17 BE5 43 43| 6.0 |37.0 82| WAt FRE 48 48| 8.4 139.6
33| A 42 42| 4.8 |37.2 83| % hk —T1X 48 48] 8.4 |39.6
34|Z B BAT 42 42] 4.8 |37.2 84| H #4 41 41 1.2 139.8
355t i1 42 42) 4.8 |37.2 85|k EIL 53 53/ 13.2 [39.8
36| AT S5 42 42| 4.8 [37.2 86| 18E 1) 53 53/ 13.2 [39.8
37| A JIET 42 42] 4.8 |37.2 87 ik T 47 47 7.2 139.8
38| M & 48 48/ 10.8 |37.2 88| il HAEL 46 46 6.0 140.0
39 g A 6 H] 41 41] 3.6 |37.4 89| Frjk IS 45 45/ 4.8 140.2
40 JEAT # 47 47| 9.6 |37.4 90 | ki — 45 45| 4.8 40.2
411 &E 47 47) 9.6 |37.4 91| & 44 44| 3.6 |40.4
4255 H)II B 40 40| 2.4 |37.6 92| K& &b 55 55| 14.4 | 40.6
43| 51| Ok 46 46| 8.4 |37.6 93|4nAK 54 54| 13.2 |40.8
44 75 5% 165 46 46| 8.4 |37.6 MmN E 46 46| 4.8 |41.2
45| H B gk 45 45| 7.2 |37.8 95 | AAAS fE st 51 51| 9.6 |41.4
46 | R REYRER 44 44] 6.0 |38.0 96| FJF 1IE3C 50 50| 8.4 |41.6
47 IKF Tk 43 43| 4.8 |38.2 975K 55 55| 13.2 | 41.8
48| HE T4T 43 43| 4.8 |38.2 988 I 54 54] 10.8 |43.2
49 % 5 49 49/ 10.8 |38.2 99| K HT 0 63 63| 14.4 |48.6
50| =8 L1 43 43| 4.8 |38.2
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